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1. Tar the circuit shown below with unbalaneed three-phase load, show that the sum of the two
wattmeter readings equals the total average power delivered to the unbalanced three-phase

load. e g
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£, For the vircuit shown in the figure below driven by a perindic voltage source v (1) where v, (1)
=ltor0< i< oand v(t) =sin t [or %t <t < 20, and v,(1+2nm) = v (1}, find the steady-stale
inductor current i(t) and capacitor voltsge v(th What's the average power supplied by the
valtage source?
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3. (15%) What is the valuye of Z that will ahsorb the maximum average
prwer for the circuit shown in Fig. 37
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|, The foliowing dc measurements were made on

e o Fig 23 L4
the resistive netwogk shown in Fig. 4 was .
Measurement 1  Measurement 2 — . + <7,
T, Resistive o
Vv, =25V V=41V ~ o .
—— I'ij . .
L=1A L=1A vV network |y,
V. =0V V=20V _ N
L =-03A I =0A P o
A variable resislor R, is connected across port

2 and adjusted for maximum power transfer to Fig. 4

R,. Find the maximum power. (20 0

5. The circuit shown in Fig. 5. represents three identical RC lowpass filters

separated by butfer amiplifiers.
{8%) (2) Show that the voltage transfer function of the circuit is

V
o = Hy(s) = H3{(s)
V, -
wherg
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Hisl = ———
S} 1+ sRC
(5% (b} Draw the Bode amplitude and phase plots agsociated with
H{s)
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The switch in the circuit shown in Fig. & has been open for a
lonp tirne. The initizl charge on the capacitor is zero. At ¢ = (,
the switch is closed. Find the expression for

a) i(1) for t = (*, and {75

by v() when ¢ = 0*. (&8r)
e 7
' 1 LY
e
7.6 mA * vith 20 ki) ganm

Fig. &

L




